ICHET

Chemustry Unit #1 Review

1. Fill the blanks,
Number of Atomic Number of . Number of
Ll = Protons Number Electr ons bl Neutr ons
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2. If a sanmple of 3 isotopes of magnesium 5 determined to have the following
cnmpnsitiml: To% Mg - 24; 10% Mg -25; and 11% Mg - 26, what is the average
atomi¢ mass?

24v0.39 = 184906
25 x01 = 23 ‘% 21.324
26%0. = 2.9

3. Dcfine the term Eretape. .‘
An 1sotope 16 6 diferent version & He Same element,

a. Howrdoes ene isotope vary from another isotope of the same type?

(move o less feutvons)
b. Would an isotope of C-14 react the same as an isotope of C-127
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e Whatisa radin-i:ntnpl:?

An isotope that is RADIOACTIVE (

IT WILL DECAY

To A SMALLER ISOTOPE)

4, There arc different types of compounds that are formed when atoms bond tegether.
Complete the fellowing chart to show the difference between these types.

Characteristic Ionic comp ound Polar Non-Polar
comp ouni compound
Electronegativity Difference .86-3%.2 0.S-1.3} v-0¢
Bond type:  (ionie er covdent) lowte (ovaLINY (ovactart
Eleetrons: {shared or transfesred) | 4 eansferad Shaved shared
Dissolve in water? (" er V) Y N\ nqha N
Boiling Paint (high. med.. lew) Hi 64 MED L ow
Example: Ne €1 Ha Q Oa
5. Show the bonding for the following comp ounds:
Tvpe of Shape '
Compound cm:lpyzind Lewis dot diagram and Bond NI:::E'I:'. “::1,
formula mgilz?lﬁi: , (show sharing m* transfer) ( f?:.:ﬂ::u Molecule
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6. Name the following compounds:

. NaCl ~ Sodium chlorde

. Mg:{PO) wmagnesiu n__ohosphale
CaFy calciam Lleoride

. S¥(C1O), Sfrovibium kcjrpck\owk

P,0; _ dphesphorng peatoxile
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Hg:80: mercacy (1) fulzhite
CCl —_Carben Yebv '
. Fe(OH), lean (1) taydraxdda
(NHLY0 Gemaumiam odide
CuCH:CO0 Copper (D) 6 tonbe
7. Identify the chewmical formula for the following names:
a. Caleinm nifrife — —
b. Iren (II) ehloride Fella
¢. Hydrochloric acid Hd -
d. Magnesium perchlorate Ma ((|04\'2
¢. Sulphur triexide ’
f. Gold (I) phosphate ’ Aw, Por
g- Sodiun biearbonate No M€02 7
h. Argon Gas -
i. Chlorine Gas (4
j. Iren (1) sulphits Te 303

B. Desenbe how life would be different if water was a non-polar melecule
. Uﬁkf wonld bo! of o mucn lower Lemp
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2. What are the similaritics and differences between HCCL: and HCF:7 In your answer,
mike reference to shape, polanity, and beiling peint.
HCFy 15 move poler anl will Mae b\\-\\u/‘ b?

Both Polar, Bo¥lo felvralhedrald
10.Compare and contrast 2 pelar covalent bend with a non-polar eovalent bond. What
about them is the same? What is different?

btk Share, olar doesn+t Share eqfually

11 .Draw the Lewis strueture of a water molecule. Indicate which side of the melecule is
shghily positive and which is shghtly negative.
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